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CHAPTER 4

Data for Financial Decision Making
QUESTIONS
1.
Why is it critical to have theory prior to collecting data about a company?  Theory identifies the variables that are relevant to understanding a company.  Without theory, we can not be sure that we are collecting the right information, we cannot know if we are analyzing the information we have collected correctly, and we cannot know how to interpret the results of our analyses.

2.
In what ways do the attitudes of customers and employees affect the financial worth of a business? Customers' attitudes about a company influence how much they will purchase and the prices they will pay for its goods and services.  They determine whether the customers will return and purchase again and whether they will provide positive (or negative) word-of-mouth advertising.  They are an important determinant of a company's revenue stream.  Employees' attitudes play a major role in their contributions to the company.  They affect how much the employees are willing to contribute to developing and producing high-quality goods and services and to reducing costs.  They also influence customers with whom they come into contact. As a result, employees' attitudes affect both revenues and costs.  Together, the attitudes of customers and employees affect significantly the company's profitability and opportunities, hence its financial worth.

3.
Identify a financial process.  What information would you like to have in order to learn if it is functioning properly?  There are many financial processes within a business, hence, many answers to this question.  Examples are invoicing, collecting receivables, paying payables, payroll, capital expenditures analysis, obtaining bank loans, stockholder relations, financial risk management, etc.  To know whether a financial (or any other) process is functioning properly, it is important to know what the objectives of the process are and how frequently the process meets those objectives.  Another way to say this is that it is important to measure errors in the process, cases in which the process fails to meet its objectives.  For example, the objective of the payroll process might be correct paychecks directly deposited to each employee's bank account by 10:00 a.m. on payday.  Each check that is not 100% correct, or which arrives later than 10:00, is a process error.

4.
What is the meaning of “six sigma”?  How does it differ from the normal success rate of human activity?  Six sigma is a target for reducing the relative number of errors in a process that repeats many times.  It represents the area under one tail of a normal distribution further than six standard deviations from the distribution's mean and (as designed by Motorola, Inc.) calculates to 3.4 defects per 1 million opportunities.  It translates to 99.9997% accuracy.  By contrast, Motorola's studies suggest that normal human accuracy is in the range of four sigma: 6,210 errors per million opportunities or 99.38% accuracy.  Six sigma accuracy can only be reached by using systematic quality-management methods.  While the difference between four and six sigma may not appear significant on the surface, the evidence is that companies capable of performing at six sigma accuracy or greater have a significant advantage over their competitors.

5.
Distinguish between cash flows and accrual accounting data.  When would you use each? Cash flows are the receiving and paying of cash by an individual or company.  Each cash inflow is an immediate increase in value and each cash outflow an immediate decrease in value.  Accrual accounting is a parallel measurement system designed to describe economic activity per unit of time.  It measures revenuesSYMBOL 190  \f "Symbol"money “earned” (rather than money collected) and expensesSYMBOL 190  \f "Symbol"resources consumed (rather than money paid).  Cash flows are used in financial analyses since finance theory argues that they are the basis for financial value.  Accrual accounting is used in the preparation of a public company's income statement and balance sheet, as required by Generally Accepted Accounting Principles.

6.
Give an example of each of the following costs:  While there are many possible examples of each, consider going out to lunch with several friends.


a.
Total cost  The amount of the check.


b.
Average cost  The amount of the check divided by the number of people having lunch.  The cost per person.


c.
Marginal cost  The cost of either the last item that was ordered if looking backward (Joe's second cup of coffee), or the next thing to be ordered if looking forward (Joe's third cup of coffee).


d.
Incremental cost  A synonym for marginal cost looking forward.  The cost of the next thing to be ordered if looking forward (Joe's third cup of coffee).


e.
Sunk cost  The cost of yesterday's lunch.


f.
Opportunity cost  The value of the lunch you didn't have, and therefore gave up, by going to this restaurant instead of another.


g.
Variable cost  The cost of the food and waiter.


h.
Fixed cost  The cost of the building, furniture, kitchen equipment, decorations, chef, etc.


i.
Direct cost  The cost of the food and preparing it.


j.
Indirect cost  The cost of the maitre-d'.

7.
What is a cost driver?  How is it used in cost allocation?  A cost driver is an activity that causes an organization to incur costs.  For example, the activity of hiring an employee causes a company to spend money on a variety of human resource activities.  Activity-based costing (ABC), a modern cost allocation method, uses cost drivers to assign costs to the activities that cause them to occur rather than by some other allocation method.  The goal is to attach costs to activities to make it easier to understand the total cost of maintaining (or adding or subtracting) each activity.  In the above example, an ABC system would assign the costs of the HR department associated with hiring to each business unit based on the number of people hired rather than on total headcount, total revenues, total costs, total floor area occupied, or some other, less relevant measure.

8.
Why is it often difficult to compare the financial statements of similar companies?  There is enough flexibility in Generally Accepted Accounting Principles so that two otherwise identical companies can produce significantly different financial statements.  Areas in which the ability to select alternative accounting treatments often makes comparisons difficult are the timing of the recognition of revenues, depreciation methods, and inventory methods.  Even where accounting alternatives are not available, many companies structure their activities so they can use a favorable accounting treatment.  Examples are the recording of leases, and mergers and acquisitions.  Big differences in financial statements may reflect relatively small differences between the companies.  Small (or no) differences between companies may be hidden by accounting differences that make the companies appear not at all alike.

9.
What is the difference between tax evasion and tax avoidance?  Give an example of each.  Tax evasion, which is illegal, is not paying taxes legitimately owed to a government.  Examples are failing to report income and overstating expenses (e.g., by including the family dog as a dependent on a tax return).  Tax avoidance, which is both legal and proper, is arranging one's affairs to minimize the legal amount of taxes owed.  Examples are investing in municipal bonds whose income is not subject to tax by law or incorporating (or living) in a state with no state income tax.

10.
Distinguish between an average tax rate and a marginal tax rate.  When would you use each number?  An average tax rate is the total amount of taxes owed divided by total income.  It is the single rate that if applied to the amount of income would produce the total tax obligation.  A marginal tax rate is the rate paid on the last or next dollar of income.  Average tax rates are used for optimization analyses when it is important to see the total picture.  Marginal tax rates are used for incremental analyses when we are focusing on a small step the individual or company is considering.

11. You have just learned that a company has 10,000 employees and have been asked to determine if this is good or bad.  What would you like to learn to make that judgment?  It is impossible to make this determination without at least one other piece of data since one number taken out of context is almost always meaningless.  Other data that might provide some context are the company's product types and mix, number of customers, skills required by employees, total revenues, total costs, number of facilities, geographic dispersion of facilities, etc.

12.
Why is competitive benchmarking superseding traditional benchmarking?  Traditional benchmarking is comparing an organization with another deemed to be comparable in size, market, etc.  Similar organizations have been sought to make the comparison appropriate and “fair.”  For example, a retailer might compare itself to other retailers with the same product line in the nearby geographic area to see how it stacks up against its competition.  Competitive benchmarking is the search for the best example of a process, product, or service as a target for improvement.  It is superseding traditional benchmarking since it identifies what is possible and sets outreach goals for the organization.  Using competitive benchmarking, the retailer would look for the organization that was best in the world in each of its processesSYMBOL 190  \f "Symbol"for example, the best at handling returned merchandiseSYMBOL 190  \f "Symbol"regardless of industry or location.

PROBLEMS
SOLUTION SYMBOL 45 \f "Symbol" PROBLEM 4SYMBOL 45 \f "Symbol"1
EVENT

YEAR 0
YEAR 1
YEAR 2
YEAR 3
YEAR 4
YEAR 5

Purchase machinery

SYMBOL 68 \f "Symbol" Revenues

SYMBOL 68 \f "Symbol" Costs

SYMBOL 68 \f "Symbol" Taxes

(100,000)
30,000

20,000
 30,000

 20,000

(10,000)
 50,000

 20,000

(10,000)
 50,000

 20,000

(10,000)
 50,000

 20,000



Net Cash Flows

(100,000)
 50,000
 40,000
 60,000
 60,000
 70,000

Note:  The notation "Year 0" is typically used to indicate "now," or the beginning of the first year.
SOLUTION SYMBOL 45 \f "Symbol" PROBLEM 4SYMBOL 45 \f "Symbol"2
EVENT

YEAR 0
YEAR 1
YEAR 2
YEAR 3
YEAR 4

Purchase building

SYMBOL 68 \f "Symbol" Revenues

SYMBOL 68 \f "Symbol" Costs

SYMBOL 68 \f "Symbol" Taxes

Sell building

Tax on sale

(250,000)
 85,000

 30,000
 85,000

 30,000

(20,000)
 85,000

 30,000

(20,000)
 85,000

 30,000

(20,000)

400,000

(50,000)

Net Cash Flows

(250,000)
115,000
 95,000
 95,000
445,000

SOLUTION SYMBOL 45 \f "Symbol" PROBLEM 4SYMBOL 45 \f "Symbol"3
(a)
Total cost
=
sum of cost of each unit




=
100 + 90 + 83 + 79 + 76




=
$428

(b)
Average cost
=
total cost ÷ number of units




=
$428 / 5




=
$85.60
(c)
Marginal cost
=
cost of that unit



For second unit, marginal cost = $90
(d)

For fifth unit, marginal cost = $76
SOLUTION SYMBOL 45 \f "Symbol" PROBLEM 4SYMBOL 45 \f "Symbol"4
(a)
Total cost
=
sum of cost of each unit




=
60 + 51 + 44 + 39 + 36 + 35 + 35




=
$300

(b)
Average cost
=
total cost ÷ number of units




=
$300 / 7




=
$42.86
(c)
Marginal cost
=
cost of that unit



For the sixth unit, marginal cost = $35
(d)

For the seventh unit, marginal cost also = $35
SOLUTION SYMBOL 45 \f "Symbol" PROBLEM 4SYMBOL 45 \f "Symbol"5
Cost driver:  number of paychecks


Annual paychecks:
5,000 employees × 52 weeks





=  260,000

Cost to be allocated:
$10,000

Amount allocated per paycheck
=
$10,000
=
$0.03846







260,000

SOLUTION SYMBOL 45 \f "Symbol" PROBLEM 4SYMBOL 45 \f "Symbol"6
Cost of driver:  number of bolts used


Bolts used per year:  100,000

Cost to be allocated:  $500


Amount allocated per bolt
=
  $500   
=
$0.005



100,000

Number of bolts per unit of product:  10


Amount allocated per unit of product



=
10 × $0.005
=
$0.05

